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Copy and complete each problem below. Set your working out clearly as you have been shown.
Give the remainder as a whole number.

[1] 528+ 4= [2] 559 + 4 = [3] 595+ 3 =
(4] 581+ 11 = [5] 658 + 5 = [6] 773 + 6 =
[7]1 564 +9 = 8] 631+ 6 = [9] 708 + 4 =
[10] 564 + 5 = [11] 664 + 4 = [12] 690 + 4 =
[13] 641 + 3 = [14] 675 + 4 = [15] 784 + 3 =

[16] 786 + 12 = [17] 844 + 5 = [18] 884 + 6 =



ANSWERS

Division

Copy and complete each problem below. Set your working out clearly as you have been shown.
Give the remainder as a whole number.

[1] 528 + 4 = [2] 559 + 4 = [3] 595+ 3 =

132 0 139 r3 198
[4] 581 + 11 = [5] 658 + 5 = [6] 773 + 6 =

52 r9 131 r3 128
[7] 564 +9 = [8] 631+ 6 = [9] 708 + 4 =

62 r6 105 r1 177
[10] 564 + 5 = [11] 664 + 4 = [12] 690 + 4 =

112 r4 166 r0 172
[13] 641 + 3 = [14] 675 + 4 = [15] 784 + 3 =

213 r2 168 r3 261
[16] 786 + 12 = [17] 844 + 5 = [18] 884 + 6 =

65 r6 168 r4 147



